

# COUNTY OF SAN DIEGO VOLUNTEER REPORT FORM PERIOD JULY 1, 2016 - JUNE 30, 2017

Deadline: July 14, 2017

COUNTY OF SAN DIEGO 2017 JUL 17 PM 3: 05

CLERK OF THE BOARD OF SUPERVISORS

1.	DEPARTMENT	INFURMATION:		

No. of Vol.	3,329 Hours	155058 X \$24	4.14 = \$3,743,100
Types of work performed by G			
shelving books and materials, pstudents with homework.		, 8	

Types of work performed by INSTITUTIONAL VOLUNTEERS in this category:

Institutional volunteers perform work which includes: Clerical work, sorting books and materials for delivery to branches, hauling boxes of books, and shelving.

c. SPECIALIZED VOLUNTEERS (this section should include utilization of Special Volunteers in positions requiring specific skills and/or expertise levels, for example, an attorney, physician, sports figure or celebrity). These specialized positions have verifiable compensation levels (VCL). If you have such a volunteer, please indicate the position, hours and compensation level below.)

<b>Position</b>		<u>Hours</u>	X	$\underline{VCL} =$	Dollar Benefit
Attorney		314		\$70.19	\$22,039.66
Financial Consultant		923		\$64.74	\$59,755.02
					\$0.00
					\$0.00
Instructor Citizenship		1072		\$31.90	\$34,196.80
Instructor Language		2062		\$29.53	\$60,890.86
Librarian	_	120		\$33.15	\$3,978.00
Literacy		15843		\$33.26	\$526,938.18
Musician		92		\$28.10	\$2,585.20
Physician		241		\$114.88	\$27,686.08
Therapy Dog Handler	_	539		\$25.94	\$13,981.66
No. of Vol. 364	Total Hours	21,206	T	otal Value=	\$752,051.46

Types of work performed by SPECIALIZED VOLUNTEERS in this category:

Instructors provide a wide variety of workshops for customers on topics such as English as a Second Language, parenting skills, computer applications and yoga. Financial consultants, counselors and attorneys bring their expertise in advising library users on housing, retirement, investment and budgeting. Library school students and retired librarians lead book clubs, assist with programs and assist customers at help desks. Volunteers with L.E.A.R.N., the library's literacy program, serve as tutors for English speakers who read below the 5th grade level, as well as new immigrants learning English.

#### d. TOTALS OF DEPARTMENT VOLUNTEERS (from above):

No. of Volunteers		<u>Hours</u>	Dollar Benefit	
2a.	3,329	155058	\$3,743,100.12	

2b	18_	115	\$2,776.10
2c.	364	21,206	\$752,051.46
Total Vol.	3,711 Hours	176,379 Total V	Value = \$4,497,927.68
DONATIONS TO VOLU	JNTEER PROGRAM:		
tangible/intangible items. I	the department's Volunteer prosentees such as computers, air tinded to the total value of the domestic total value	ne, transportation, books	-
Item Donated:			Value:
		TOTAL VALUE =	\$0.00
<del>-</del> -	nation (total hours of program on should include coordination	-	•
Но	urs 3335 X Rate	\$30.00	\$100,050.00
c. Other program costs (vo	olunteer training materials/supp	lies, recognition costs, e	tc.):
	<u>Item</u>		Cost
	Recognition Events		\$3,000.00
TOTAL OF OTHER PR	OGRAM COSTS	=	\$3,000,00

3.

4.

. 1

# d. TOTAL OF VOLUNTEER PROGRAM COST (add 4a, 4b, and 4c)

\$205,980.00

## 5. NET BENEFIT TO DEPARTMENT FROM VOLUNTEER PROGRAM:

a. Total Dollar Benefits of Volunteers, Item 2d (Page 2)

b. Total of Donations to Volunteer Program, Item 3 (Page 2)

c. Subtract Total of Program Costs, Item 4d (Page 3)

\$4,497,927.68 \$0.00

\$205,980.00

#### TOTAL PROGRAM BENEFIT

\$4,291,947.68

#### 6. RECRUITING:

Please describe your recruiting programs:

VolunteerMatch database (supported by California State Library); Media releases for specific volunteer needs; online Application at four sites accompanied with a County Television Network produced volunteer recruitment video; ads in Book Page; Library staff encouraging potential customers to get involved as volunteers and in-branch volunteer program advertising. We will seek opportunities to partner with other county departments, so that county volunteers who have already on board, are provided with more opportunities to share their expertise at different sites.

## 7. SPECIAL VOLUNTEER PROGRAM ACTIVITIES/ACHIEVEMENTS:

Please describe any special activities and/or achievements your program was involved in during the period of this report:

The library had the honor of recognizing 7 Volunteers of the Year during Volunteer Appreciation month and 1 Volunteers of the Month throughout the year.

	TIOT TINIDED	22002111	~ ~ I T ~ T ~ T	TTY C C . T	W 1999 A 379	0045 40
Q	<b>VOLUNTEER</b>	PROCRAM	COALSTOR	HISC AL	V K' A R	2017-18:
n.	VOLUNIELI	TITOUTUME	OOMED FOR			ZVI / "IO.

Please describe your program goals. Include activities, number of volunteers, recruitment, training, recognition and other goals:

San Diego County Library will work to strengthen our youth volunteer program which we call the Service Learner Program. We also look forward to working with the county volunteer coordinator in working towards online services for recruitment and data collection.

9. GENE	RAL INF	ORMA	TION:
---------	---------	------	-------

Name of person com	pleting report:	Sheila	Sheila Crosby			
Phone: 858-694-2370		Mail Stop:	70	E-Mail:	sheila.crosby@sdcoun	
Volunteer Coordinator:		Same as above				
Phone:		Mail Stop:		E-Mail:		

**DEPARTMENT CERTIFICATION:**